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WE O Ul Tg THerT gierwr Wie & 7 Wl WY 99 de 7 @i

... : VGYH-D-CST Tieror gieeRt ergsn
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2059701 TRT0T giEerant A
AT AT
q94-9a3—I1
uWg : q g0 quits : 200
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1. Than YR ¥ & N 918 3Ny 38 whigrn yiem Y ggara srmva e R 3 w8 i vw, wer @ @
TN 9B awEr WA HR 7 w7 AR @ R, W@ @l whaw gfers @ s w)
2. Y1 AR @ f6 OMR IM-73& # fwa wm | e 7R 3R wigor i FqF1 A, B, CTT D & & R
w o et o= a1 Rl & s 3k TeEg w1 ARmiEd wfizar & 2 o ger h g /Ref
# fafa # sw-vas Fa = o oy
3. | Waw yfem w @y d Ry 1w Fws d s AU AgEAE
fo@m 1 whew gfes ® iR §B 7 ford)
4. 39 vhem gfRE # 80 www (W) R T ¥ wRE s R ok st A oW ¥ w_E wHw A SR I
(W) R M §| T A wF TG R G o, A AW IW-F W 3ifka w1 R ¥ AR g W@ o & A
i TG A &, ) IW TGWR B 3fHd B S IR FAH | FdD FAW F A et T @ T Gw T8
5. A AW T Fgw e ¥ Ry M Im-wE | @ dAfrd FA € Iw-waw #§ fe m fEw @)
6. Tt YAl ¥ 3F TEA R
7. T90 Tea for 3y whiamr gitae & faftm weAwl & TW IW-TEE W 3ifFd I IE HE, AR T@4Y TH0-UF F /™
IR SR F IFER TS AW Iw-www A A §)
8. 3 3 W TFW F IW-TFH # WA F TR U1 T F FANA R FaA IW-TT6 3l F d9 31 J9a 39
Y gl giee o SR e @)
9. 7= M & Y uash, whaw gf@e & o< d dem 2
10. oA IW0 * forg gue
Iufigar TR Ry M0 e 3w & forg gve R s
(i) F% TH & fofe 9 3f® W | IPfTar T T 7@ F e R T o T 3w & foe wE g fFEa fi
M 3 W TH-fagrd <ve % ¥ A F Swm|

(ii). afe #1 Ifiean TF A T IW 2 B, @ W T IW AT N, Fafit Ry T Iwd F A v IW A @ R,
o I F o sugwiger € S aw w1 v R smom)

(iii) 3R IfzaR g0 P WA 7 7w S @ g IEfear T I A R W@ @, @ 3§ 3 ¥ g F8 <ve
Tt fear<mem |

W9 A% AU I GO0 gFRw @R I 7wl A0 a9 q@ A @l

Note : English version of the instructions is printed on the back cover of this Booklet.
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Frafafea 3 (fi) st & forg A

frafafaa 2t ufedst #1 ufey it 33% 9 oM 9=
T % IR G| 39 gl F e aek I Fad
A uf=adl W& enurfa B =ifew)

giese—1

A4 fawm f wifd 990 @A * 9me ged |92 |@an
38 ¥ ¥ fa@rd 3 @ 6 Ieren ik 3uem ¥ wey §
s smofiaa sgdt s1 @ ¥ adwm IRA Are
Sfraren §uet W aga sifves fft €)1 o e W € B
I8 @EY JURiig R, HifE 3 e difta ¥ 9ma
foepre 1 wél s1f & oy @ W F fo o @afy
IR W T Ieee & o9 fit afie dagm F 9u
4 H a8 3o faefm [ O3 gEmw
(Temfddn) #1 AR iR gdafe gfEes au
anuife @ # fEaw o afa gowE # e
F AN W T ) foreg sifve e 29t =)
uitepd S |ia il S il R oreq Iyeear F
HR AT FH AHA FAT 98 @ 2| fwia 29 f
aifey & A famasfiar 3wl & urofm wea o &
3R S ¥ G 4 |

1. F=fafaa & ¥ fras /s Fro 3T &
ey § Aynofigar 87

1. Sftares $e @ 9t i
2. HugEl $ difte sueeya

3. YASHT 1 TER

Fra few g g2 w1 v g I gh
(@) S 1 3R 2

(b) FEA 2

() *ad 1 3R 3

(d 1,233

VGYH-D-CST/46A
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2. Fr=fafas sut w fomr Hifs .
Twfea 2w, fawmefa 29t F gofm a9
b i 3l 9 § wEEE B g B

1. 4 AP W IReFd St G I0ersy Fq
£

2. % HEEtE IREE h gUR % fo
ATHEE ST 34 WA I H H

3. 3¢ HW I AR IJ0EW F w@wl
wEem & fog diefea =

394w HoE A | FH-T1/3 wh R/E?

(@) Fad 1

(b) Fae 1 3R 2

(c) Fad 2 3R 3

(d 1,23R3

afedg—2

W& d% I iwdl R gl H, 3w F w@iawo H
T w1 & fore sl R, Fre wfew § feifia &
o s, iR swTeeIied 491§ gRg TR W R
AR 78 T s, fm siearg qwnd i g A
A % F B G -5 39 W 9% 5 son fR
HR-4R Ff, S TR A F G IR R, EvE A
smeft| fae % meeeim 3w i TeRYE F 'R e
W YW, 983 UMM W T dHINeH  geaRomEl
arEE AR e §) 7% wgw i-9v e Tm-gage %
HeHl 3R I YOR THA W F I WF § 3E E
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1
The main threat to maintaining progress
in human development comes from the
unsustainability  of
production and consumption patterns. Current

increasingly evident
production models rely heavily on fossil fuels.
We now know that this is unsustainable
because the resources are finite. The close link
between economic growth and greenhouse gas
emissions needs to be severed for human
development to become truly sustainable. Some
developed countries have begun to alleviate the
worst effects by expanding recycling and
investing in public transport and infra-
structure. But most developing countries are
hampered by the high costs and low availability
of clean energy sources. Developed countries
need to support developing countries’ transition
to sustainable human development.

1. Unsustainability in' production pattern
is due to which of the following?

1. Heavy dependence on fossil fuels
2. Limited availability of resources

3. Expansion of recycling

Select the correct answer using the code
given below.

fa) 1 and 2 only

(b) 2 only

(¢ 1 and 3 only

(d 1, 2 and 3

VGYH-D-CST/46A
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2. Consider the following statements :

Developed countries can support

developing countries’ transition to

sustainable human development by

1. making clean energy
available at low cost

sources

2. providing loans for/ improving
their public transport at nominal
interest rates

3. encouraging .«them _to change
their production and consumption
patterns

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only

(c). 2 and 3 only

(d 1,2 and 3

Passage—2
Unless the forces and tendencies which are
responsible for destroying the country’s
environment are checked in the near future
and afforestation of denuded areas is taken up
on a massive scale, the harshness of the
climatic conditions and soil erosion by wind
and water will increase to such an extent
that agriculture, which is the mainstay of our
people, will gradually become impossible. The
desert countries of the world and our own
desert areas in Rajasthan are a grim
reminder of the consequences of large-scale
deforestation. Pockets of desert-like landscape
are now appearing in other parts of the

[ P.T.O.
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R @ 3 @t ¥ & 33 @ e @ awew 5. fdl vgam-v3 i ¥&N ABCDEFG ®, fg
IravEs TEl 6 g ww A R, sl W ol G
witaredt 3R @l % WY W-W I e wWa A, @l A 3% (399 1, 2, 4, 5, 7, 8, 9) &
w1, firk v g A Srew, gEh wha ot @ W, frefim w21 7 we 3w 0 A e 2
2fE ¥ 9Een ©F % e W, R gen
St gheet § e R Fe e %9 21 5% 6 4 BT ) T den % ahd @ 2
I A feR w ofomd @@ s 5 @
fvrsa %) 7@ @ % afgd @ @7 e =

3. 3T Ui=De ¥ FER, FAEH R IS B
B e Prer oo T sid g Qe ) o
bl wer ¥ M A 9w S A P w o
1. 31 GETEH H & & 3% 3 A 99Ty R)gq@ wen % ot |

9ig 3l @l R w gRom g o 2 |

2. ¥m e & forg i A fawrsw ?) frefefae § @ <9-91, 3@ 9@ &

3. Fh % fou 5 i w+h F 9 31 AW B e T A7
= fo T e 1 W@ W g W g (a) 8
(@) Fa@ 1 3R 2 (b) 9
(¢ 11
(b) Had 2 R 3
(d 12
(c) Fad 1 3R 3
(@ 1,23R3 6. 3 fim x 3t v dem y& w@ € 3t A w iy

50m 7% TH @ fom # dew w fag W
Tgad 81 X qfed g 60 m gl B, FafF
Y 9T¢ g 40 m dgal Bl TF 918 X &0

4. 3FA 20, 10, 10, 1S; 30, 75, X # Fe 50 m SR T Sl ¥, Farh v A
X 1 A 91 87 e 50 m I ¥ a1 8| 3@ M
TH-gR A fhah | E?
(@) 105
(@) 100 m
120
o) () 90 m
(¢ 150 i) 60'm
(d) 225 (d) 50 m
VGYH-D-CST/46A 4
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country including the Sutlej-Ganga Plains and 5. An Identity Card has the number

the Deccan Plateau. Where only a few decades
back there used to be lush green forests with
perennial streams and springs, there is only
brown earth, bare of vegetation, without any
water in the streams and springs except in the
rainy season.

3. According to the passage given above,
deforestation and denudation will
ultimately lead to which of the
following?

1. Depletion of soil resource

2. Shortage of land for the common
man

3. Lack of water for cultivation

Select the correct answer using the code

ABCDEFG, not necessarily in that
order, where each letter represents
a distinct digit (1, 2, 4, 5, 7, 8, 9 only).
The number is divisible by 9. After
deleting the first digit from the right,
the resulting number is divisible by 6.
After deleting two digits from the right of
original number, the resulting number
is divisible by 5. After deleting three
digits from the right of original number,
the resulting number is divisible by 4.
After deleting four digits from the
right of ‘original number, the resulting
number is divisible by 3. After deleting
five digits from the right of original
number, the resulting number is
divisible by 2. Which of the following
is a possible value for the sum of the
middle three digits of the number?

iven below.
K (a) 8
(a) 1 and 2 only (b) 9
(c) 11
{b) 2 and 3 only (d 12
(c) 1 and 3 only 6. Two friends X and Y start running and

(d 1,2 and 3

4. What is the value of X in the sequence
20, 10, TONIS, 30, 75, X?

(@ 105
fb) 120
(c) 150
(d) 225
VGYH-D-CST/46A 5
5 www.jkchrome.com www.jkchrome.com

they run together for 50 m in the same
direction and reach a point. X turns
right and runs 60 m, while Y turns left
and runs 40 m. Then X turns left and
runs 50 m and stops, while Y turns
right and runs 50 m and then stops.
How far are the two friends from each
other now?

(@) 100 m

(b) 90 m

(c) 60 m

(d) 50 m

[ P.T.O.
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7. Ffafga & @ 5@ 2099 & e A = 9. 290 321 418 3fn gl2 § § Fw-H weEw
faam am? Y 87
(@ 4
(a) 240
(b) 5
(c) 6 (b) 3%
(d 7
(c) 418

8. ¥1,840 % u% faa@ =1 €50, ©20 3w #10
TEa & A § gam R S R g9
frmmR 50 e %W #§ 3y F=fafaa s
Wﬁqﬂ’uﬁﬁm:

1. €50 9 25 AR &W # I AR Iy
PaE €20 a1 AR €10 9 ARl §

(d) 812

10. 3% 1 9 9, @ dferdl § 38 woR =wafRm v
T & 7 v dft J fiF o €, of gud ufw

& # o s eeh s § W e B A Y
o R frad iR § e e i &
2. ¥20 9 35 A2 HM F Y AR A w9 9 T 2 el o W D ar @
YA €50 e 3R €10 T ARl # # sufy 78 21 9R 91 s 2, 3, 7 A9
Toram ) # A Fad OF 3 F geeh 9 A Zafem
3. ¥10 9 20 A1 FH ¥ e iR A m'ﬁaﬂ‘fﬁﬁ,ﬁ’l?ﬂ?ﬁ?ﬁﬁﬁﬁiﬁm@a
YaH €50 9 3 €20 I A A F % fory T fope T v #7
3 )
e e & A -2 T T 7 i
(b) Few 2 3R 3
€ 2
(c) Faa 1 3R 3
(d 1,23R3 @ 1
VGYH-D-CST/46A 6
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7. Which date of June 2099 among the 9. Which number amongst 290 321 418
following is Sunday? and 8'2 is the smallest?
(a) 4 (@ 240
(b) 5
(b) 321
(c) 6
(@ 7 (c) 48
8. A bill for ¥1,840 is paid in the (d) pre

denominations of ¥50, ¥20 and ¥10
notes. 50 notes in all are used. Consider

the following statements :
10. The digits 1 to 9 are arranged in three

1. 25 notes of ¥50 are used and the rows in such a way that each row
remaining are in the denominations contains three digits, and the number
of ¥20 and ¥10. formed in the second row is twice the

number formed in the first row; and the
2. 35 notes of ¥20 are used and the

remaining are in the denominations
of ¥50 and ¥ 10.

number formed in the third row is thrice
the number formed in the first row.
Repetition of digits is not allowed. If only

3. 20 notes of ¥F10 are used and the three of the four digits 2, 3, 7 and 9 are

remaining are in the denominations allowed to use in the first row, how
of #50 and ¥20. many such combinations are possible
to be arranged in the three rows?
Which of the above statements are not

correct? (a) 4

(a) - 1 and 2 only

(b) 3
(b) 2 and 3 only
(c) 2
{c) 1 and 3 only
(d 1, 2 and 3 (d 1
VGYH-D-CST/46A 7T [ B0
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Frafafam 4 (aw) weaivt & fw fdw

Frafafia 2t ufedet =i qfer i 9% 9 oW 9
v % SW AT 37 i ¥ e aed I Fad
3 iRl W snuia B8R =il

gfesg—1

'S e SR WU | %W & fore 7 dea § AR
ey wfteo-ym =af & R @ wW H F FHT,
dfer TFifa § &9 7 o & 75w A S ma (Ae)
WH A SHAl ®, 98 USH 1 6T HA T 2
4R vet W ¥ U uiifia fafhcas B smavawa
Bt 8, N feft soeht @m Gt i el sman
# M AN t—eA qenm g7 T Bt 75 fufres
ol R A, T EEH 7= g A o R, s\ g
T4 € dER R, @ 7 g gEeh a9 B =iy
T & ge@ gfgmam iR ged 3w =fe f Aa1 @k
Arfes firei?”

11. Fafafad 9= § @ F9-91 & 9 et %
TEF F G F GaraH §9 § wiafafem wa
B7

(@) T HH & & 6 o #aE i usefeg
29 1 A TG F A 2

(b) USHifaE! = yzed § yRiféE @t § @
g S =R |

(c) T W vgfy 99 feen 6 sw@
2, el adefe = ¥ s A R
@1 S gH|

(d) < HARTA HH FAEH H A €, T
1 YA F H TSI B ITar W
¥ T8I ST S GehaT|

VGYH-D-CST/46A
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ufede—2

T Y@ Fard SrEaSES 8 S R, 59 98 aHee
a@ ot @ 6 wma § el w1 yeR Fef 9% ¥ 9w
Faa gafore 7@ @ 5 st aftmn sga @ gl @ fr
e ®wF ¥ R e f o wA f fE-vgh
foamerene &, afew 7 % i ke siegmsa st
TEd URON % FRO R| AR A A 9die. @ 4@
HATH FIME % Y § G0gA W 3 w9 @ fof 2y
™ deR ¥4 # - Fdaa Fg arfiwa e s wwa
?1 3R e Sfaden 3 =St A 9@ A R, S age
% ga-@red F yifad g, @ dE-fdwa me
Fad UF Y] 8l Sen-fdwan, s feErw 3, frd 9w
Feft it g & A& R, Sl =te aa #§ wa g,
forrg T8l @@ & e & fasey g & fog anafas
e & I 7 off @ ) afee el ol wy @
Y 3afwes wRfEfEt g0 wew R P sm
WA, 9 T FH +fisit F A, R A 3 gEg
ff e as w9 | s fdaa & w9 3§ 3@ s R,
FHaaren amed H A wW 6, wufq m S F
fopeq T & @ fafagargl si gegam sfiem o &,
3% et Hifa W o g ¥ dafie
B 21

12. YRA ¥ 3 T TR ) o 6 Be-ueh
Toramerere = 27

(@) @& @R & oA IeeE R 5 AR S
‘e W@’ # A g

(b) o R W Te f T F fi= a5
rfore 3raand €1

(c) JIF-REFa W F FE  THEIH
Targeardt o 6 1

(d) T&@ T F FAEE AW T UIW
FIINH 6 €9 & TG A T i

www.jkchrome.com
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

“In simple matters like shoe-making, we think
only a specially trained person will serve our
purpose, but in politics, we presume that
everyone who knows how to get votes knows
how to administer a State. When we are ill,
we call for a trained physician, whose degree
is a guarantee of specific preparation and
technical competence—we do not ask for the
handsomest physician, or the most eloquent
one : well then, when the whole State is ill
should we not look for the service and guidance
of the wisest and the best?”

11. Which one of the following statements
best reflects the message of the author
of the passage?

(a) We assume that in a democracy,
any politician i§8 qualified to
administer a State.

(b) Politicians should be selected from
those trained in administration.

{c) We need to devise a method of
barring incompetence from public
office.

(d). As voters select their adminis-
trators, the eligibility of politicians
to administer a State cannot be
questioned.

VGYH-D-CST/46A
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Passage—2

The poverty line is quite unsatisfactory when
it comes to grasping the extent of poverty in
India. It is not only because of its extremely
narrow definition of ‘who is poor’ and the
debatable methodology used to count the
poor, but also because of a more fundamental
assumption underlying it. It exclusively relies
on the notion of poverty as insufficient income
or insufficient purchasing power. One can
better categorize it by calling it income poverty.
If poverty is ultimately about deprivations
affecting human well-being, then income
poverty is only one aspect of it. Poverty of a life,
in our view, lies not merely in the impoverished
state in which the person actually lives, but
also in_the lack of real opportunity given
by social constraints as well as personal
circumstances—to choose other types of living.
Even the relevance of low incomes, meagre
possessions, and other aspects of what are
standardly seen as economic poverty relate
ultimately to their role in curtailing capabilities,
i.e., their role in severely restricting the choices
people have to lead variable and valued lives.

12. Why is the methodology adopted in India
to count the ‘poor’ debatable?

(a) There is some confusion regarding
what should constitute the ‘poverty

line’.

(b) There are wide diversities in the
condition of the rural and urban
poor.

(c) There is no wuniform global
standard for measuring income

poverty.

(d) It is based on the proposition of
poverty as meagre income or
buying capacity.

[ P.T.O.
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13. sm-fFdwa ‘e’ i o i TwaE T = 15. X 3R v, 300 m &= g wEl # ded 7Y

?? 3km H dg w ¥ A IA 3:2 F
IuE § B IR IEH TH-HG T € R §
(@) T& ¥ asft it e T FaA T TR 4 y& A R, @ fhadt 9w geen =fE, W
¥ a=q ) ama w2l =afeh % @ A M (A2 gE FA A Bl
%! yg | oA | 78 e mn R)?
(b) HHE SiEd § 3 GEA w1 FAwE H
F A FB off S-3 T R @ 2
(c) sma-fdwa #§ wrh m T R, =@ b) 3
Tg-THg W Seed! & R
(¢). 4

(d) I-fdaa gy faswer-amm #1 B

WE g9 W AT 8 difta i R (d s

14. ‘Shaa-fadaa’ & oras & 0 aed 27 16. af iR aotaren % W9 F I W RO W

R U FH H o ®) Al 3§ 9u # Frefia
= forma g0 A 363 forn @, @ Frafafaa
# § F9-91 & LUCKNOW #H Fi&fm

(@) TWHE-SER #  weft F=and S Faa ™
% wh A & 7, afew anafas s

H &t A I Bt &
B

() T IR wEd &= F e @ A
Freht il 2w (a) OGXPMLD

(c) . Tt =afem aRfeuferdl & 22 gu s (b) OGXQMLE

([ wFa SfEd § SgEs, WY #@ 9 (c) OFXPMLE
G du, S 7 F faed-w
) el 9 @ difta w3 § (d) OFXPMLD

VGYH-D-CST/46A 10
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13. Why is income poverty only one measure
of counting the ‘poor’?

(@)

(b)

(c)

(d)

It talks of only one kind of
deprivation ignoring all others.

Other deprivations in a human life
have nothing to do with lack of
purchasing power.

Income poverty is not a permanent
condition, it changes from time to
time.

Income poverty restricts human
choices only at a point of time.

14. What does the author mean by ‘poverty
of a life’?

(@)

(b)

(c)

(@

All deprivations in a human life
which stem not only from lack
of income but ‘lack of real
opportunities

Impoverished state of poor people

VGYH-D-CST/46A
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15. X and Y run a 3 km race along a circular
course of length 300 m. Their speeds
are in the ratio 3:2. If they start
together in the same direction, how
many times would the first one pass
the other (the start-off is not counted
as passing)?

@ 2

®) 3

(c) 4

fd 5

16. If the order of the letters in the English
alphabet is reversed and each letter
represents the letter whose position
it occupies, then which one of the
following represents LUCKNOW™?

in rural and urban areas (@) OGXPMLD
Missed opportunities in diverse
personal circumstances (b) OGXQMLE
Material as well as non-material (c) OFXPMLE
deprivations in a human life
which restrict human choices
permanently (d) OFXPMLD
[ PTG,
www.jkchrome.com www.jkchrome.com
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17. 150 wfrifiEi aeh fFft s e 3

Sa-51 F1§ Raend sl gwan @, W 9w =W
T s B1 97 TfEm e mn & 5 A of
At el (2rd/gT) W Foffa 78 @i @ R
e & Fel wifvrat deht md?

www.jkchrome.com

19. 2 2y 7y y9a iR 3w W fa=m fifsm

W ;w1 x O RY

FY-1 : x /3 i 7E R

FYE-2 : 3x U 2B
IR e R FoE ¥ ar # Frafifea 7 |
{a) 151 IS
(b) 150 (a) FFe FYF-1 € W H IW A F fag
e ?
Bt (b) FHeN FR-2 € TE W IW N\ F Y
Y4H ®
(d 148

(c) F-1 3R FAE-2, A, TA H IN
A % o vaiw &

(d) FE-1 IR FH-2, IA, TH F TN

18. 3-3% H fradl vl e (i = wWm 3 F forg vty ¢ &

e fee fomn) @ wer dft T den @

v 37 fawm 1 i e 5 A favrsa A7
20. TF I5g A Fwa § 25% g H T 9
#9a F 20% 921 fegn T 3R R 10% 5@
s fean | e # ufeomdt 9fe =0 27
(b). 12 (a) 5%
(b) 10%
c) 16
(€) 12:5%
(d 24 (d) 15%
VGYH-D-CST/46A 12
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17. In a tournament of Chess having 19. Consider the Question and two
150 entrants, a player is eliminated Statements given below :

whenever he loses a match. It is given '
that no match results in a tie/draw.
How many matches are played in the
entire tournament?

Question : Is x an integer?
Statement-1 : x /3 is not an integer.

Statement-2 : 3x is an integer.

(@) 151 Which one of the following is correct
in respect of the/ Question and the
Statements?
(b) 150
(a) Statement-1 alone is sufficient to
answer the Question
(c) 149 §
(b) " Statement-2 alone is sufficient to
answer the Question
(d) 148

{c) Both Statement-1 and Statement-2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

18. How many 3-digit natural numbers
(without repetition of digits) are there
such that each digit is odd and the
number is divisible by 52

20. The increase in the price of a certain item
was 25%. Then the price was decreased

(a) 8 . by 20% and then again increased by
10%. What is the resultant increase in
the price?
(b) 12
(a) 5%
0,
0 16 (b) 10%
(c) 12:5%
(@) 24 (d) 15%
VGYH-D-CST/46A 13 [ PEO;
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Frefafaa 3 (F7) gyt = forg Fdw .

frafafiga ufede # ufey ol e M9 oW T
AT % I AT 3 g F e s IW Fad
79 qi=ag | @ nahd 29 =Jifee)

uftedg

g & 3o Sl W TEa R A IR wgE g f
Il TRl ) € o vge T R ) 39 H A A H
el iR 7 @ e FR-wmeE T @ ' A e
WahH e R R R 7 g a I W
F w1 39 B | AR AfeF qEE w1 ST S @,
A Fo WH FH F g sges & S| dafe
IV T FEEIS] B P A A GEHF 8 wHa 2 F
e aga oo ¥ we@ W@ R Aga-w TR A
ufdnft serq/emle F due fRaE g @mEn S @ R
ufim § fwfa aeE T WH W IVEREH FHe
%) it Ieqresh o9 % forg s s @ § 1 henfeR
1 I 9N T8, R 98 @] 7 Hit 9| fawmE
fag & 78 SduM N qeAH W Ia0 @ awp R R
TR AR S § o T e WA 8
3 ) gan F gt suhi v ofimnF wH
s a3 frafe % forg F F@ o FEw 6, W
e uwe # oft 5 fram iR Fa 39 SR R
a1, wgamEn S, @ R Awaw F fo st
arETE-IeeTal B i1 W aEm wew 3R
vierwr glaard S <t ot a3, Frew aftey arm
#H AR G GO IS ek SR I T HOFA
o s @)

21. 39w dieRE W ey, Fefafes gEamond
TR T ¢ :

1. HN Dfeh & faem, fawha 2w o
Hifta B

2. N defeh, femsfa e 7 G
HYATE T 2

VGYH-D-CST/46A
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It qEuRonaTt # ¥ FH-w1/8 A9 /87
(@) Faa 1

(b) FE 2

(¢) 1 3R 273

(@ /1A 2

22. IR UReAE R anwiE, PefRea g
FTEWE

1. a3 S qdEE HY aEAw o
gREdd @M ) STl

2. Twfaa 291 & 98 YER i |@=A
2 ¥R A @rEE ) w= FE6 w9 6

et qEuTne § ¥ Fe-E1/3 39 /87
(@) FFa 1

(b) ¥ 2

(c) 1R 23E

(@ 3@ 1IATR 2

23. ITH UR=SE W T, Frefafen Eumom
TE W :

1. et difed ¥ fou w@iw @R g
gl e drm)

2. HURe HH, TE I A GEm G
F forg emiwe fawea R)

I qEurone § F FE-91/8 A9 2/E7
(@) ¥ 1

(b) = 2

(c) 1 3R 23H

(@ @ 1RAA 2
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Directions for the following 3 (three) items :

Read the following passage and answer the
items that follow the passage. Your answers
to these items should be based on the
passage only.

Passage

In some places in the world, the productivity of
staples such as rice and wheat has reached
a plateau. Neither new strains nor fancy
agrochemicals are raising the yields. Nor is
there much unfarmed land left that is suitable
to be brought under the plough. If global
temperature continues to rise, some places will
become unsuitable for farming. Application of
technology can help overcome these problems.
Agricultural technology is changing fast. Much
of this change is brought about by affluent
farmers in the West/Americas. Techniques
developed in the West are being adapted in
some places to make tropical crops more
productive. Technology is of little use if it is
not adapted. In the developing world, that
applies as much to existing farming techniques
as it does to the latest advances in genetic
modification. Extending to the smallholders
and subsistence farmers of Africa and Asia the
best of today’s agricultural practices, in such
simple matters as how much fertilizers to apply
and when, would lead to a greatly increased
availability of food for humanity. So would
things like better roads and storage facilities,
to allow for the carriage of surpluses to markets
and redlxcc wastage.

21. Based on the above passage, the
following assumptions have been made :

1. Development of agricultural tech-
nology is confined to developed
countries.

2. Agricultural technology is not
adapted in developing countries.

VGYH-D-CST/46A
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Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

22. Based on the above passage, the

following assumptions have been made :

1. Poor countries need to bring about
change in their existing farming
techniques.

2. Developed ‘countries have better
infrastructure and they waste less
food.

Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

23. Based on the above passage, the

following assumptions have been made :

1. Growing enough food for future
generations will be a challenge.

2. Corporate farming is a viable option
for food security in poor countries.

Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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24, 99 A, B, C, D 3R E 3@ @& =¥afeq fry Mg 27. A B3I Rcimwmw@ Rt & A9 B

2 % A 3t E % 19 g9 @ 99 §) 39 @

Torert sraad dya &7
(@ 12 (b) 18
(c) 24 (d) 36

25. = fu e yw 3R 3 FE w fEr A

T ;T Z, X H T R7

F-1: YH E X2 3z W YR
FU-2 : X, Y 3R Z gee wig /= B

I e I el F 9 frefofea § @

% forg = e 1= €, B® C & fou s fim
TH 8 3R A® CF fou i fim w=a &1 &
T & WA W FE Afe o B ww @
A® CdF 5 GFar &7

(@ 10 (b) 13
) 15 (d) 36

28. A% T Fo Tk &g S & oY =i # 2

3R fos e B %1 ¥a1 31 B39 ¥ a9
et # 2 -9fR T faeme c# 2@ ) I
Y fml § 2 i Rk e D w ¥
2| D% 9 ¥ fa il &, o= @ 51 A
YW TS ¥ | YE A A & T Tran R €7

-1 T Wl 17
(@) 76 (b) 68
(@) mm—lﬁmmm%ﬁ%m (c) 60 (d 52
(b) e T2 T F IR W F R 29. At AABABCABCDABCDE... #§ 1004 ¥H
iy & W HE-|1 F01 Imem?
(c) FH—1 3N FYF=2, FHI, FH F IN (@ G (b) H
@ % fore gaiw @ (c) 1 (d J
(d) FH-1 3 FAF-2, B, TH H IFN .
2 ¥ R v & 30. @ =fe A, B 3l C et ot () # @2 %

26. 101 km T 9% & TH FFR TH-gW @
FAE g0 W 101 Y AW 7Y 7| 5 FHHOE dE

% o9 3 o gt 77
(a) 40 m (b) 404 m
() 50 m (d) 505 m
VGYH-D-CST/46A 16
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fopeg ararvas i B g ww @) A st B
% 9 4 =afs € 3R Baw Cc & ¥ 7 ==fE
faR cFam 11 AfRFE iR A F 0D 13
=t &, @ ifn § @ = A e e
w87

(@ 22 (b) 28
c) 32 (d) 38
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24, The letters A, B, C, D and E are arranged

in such a way that there are exactly two
letters between A and E. How many
such arrangements are possible?

(a) 12 (b) 18
c) 24 (d) 36
the Question and two

Statements given below :

Question : Is Z brother of X?

Statement—1 : X is a brother of Y and

Y is a brother of Z.
Statement-2 : X, Y and Z are siblings.

Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(¢) Both Statement-1 and Statement-2 -

are sufficient to answer the

Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

26. On one side of a 101 km long road,

101 plants are planted at equal distance
from each other. What is the total
distance between 5 consecutive plants?

fa) 40 m (b) 404 m

fc) 50 m (d) 505 m

VGYH-D-CST/46A
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27. A, B and C are three places such that

there are three different roads from A
to B, four different roads from B to C
and three different roads from A to C
In how many different ways can one
travel from A to C using these roads?

(@ 10 () 13

© 15 (d 36

28. A has some coins. He gives half of the

coins and 2 more to B. B gives half of
the coins and 2 more to C. Cgives half of
the coins and 2‘more to D. The number
of coins D has now, is the smallest two-
digit number. How many coins does A
have in the beginning?

(@ 76 (b) 68

(c) 60 (d) 52

29. In the series AABABCABCDABCDE..,

which letter appears at the 100th place?

(@ G (b) H

€ 1 @ J

30. Three persons A, B and C are standing

17
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in a queue not necessarily in the same
order. There are 4 persons between
A and B, and 7 persons between B
and C. If there are 11 persons ahead of
C and 13 behind A, what could be
the minimum number of persons in
the queue?

(@) 22 (b) 28

(c) 32 (d) 38

[ P.T.O.
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Frafafea 4 (ar) st & forg fdw

Frfafaa Y afedst 1 aRy ok =% 99 oW 9@
TeAE % I AR 7 v F R o W Faw
 aR=3d W& i B =iy

qfEdg—1

TEHaE a1 (TR feieE) et W gataen
GEAE T A wFAT| gAY ad9H She-age
wfaig weifufEt % g, st e § w § @ §,
g e it ft TR TE B T | THE gfory 7 § R
3 yefoat faggm & smift < el yRgem @
TE W wHdl | Iusifaa A 3 fAeem w1 Iwerh,
ayfeE Wl H, J AW A FE@ oS owwa B, N
AT fagy @ Sfaw gdensdt (G, I k)
w9 N ¥ swmd ¥ et W oSfEt ¥ faew
(§areqa) & wenferdt 1 fagqe & w wg@ R
W@ 1 ga9H A 9eft W U wg 9 yefaal 8 g
&, UMY 90% & e yeufeat, S # geaht w off,
¥4 fage & 90 #1 wF W R, gR-ymard Rie
3 910 1 HANSHE GHIYH 23 T SEed B 9 s e
i & e ghwdl wa @ ot gonfedt # gea
R 3R R 3% wm & 99 3 R) Ry e %
R A efdFard e w 9R R @, gun 3R
THeH IRFgH 8 STl 2—sial @ Sfad 39 vafawi @
sfaw gl # e & w9 3 fagqe @ o 2, R
WA I SUGHA I TG ®W Y AR TE wHw
B i, dusfE e fem figh arae
Tregra ® & €l foEm fm —ad g ) Rew 6
frnfaf (aifds ¥ wrpfsr a1 wega fen) +1 wiw
Tude AT AfRSt ¥ A W B) aRad #, apf 7
TEA F Q@ FEE e § A Rl o o fed
SQATIH,  aTedfaEe,  awE,  Shawdd,
Al a1 ofifos et 3 d@ea 9d e &) AR o
&1 faur 3 R, @ ol F fam dw-dw Ffe,

VGYH-D-CST/46A
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faferd, =1z7 3R smeRT gr wafia Pt @
A = % A wpfos Faw-ag=m € < e &
o Hema H e wa &)

31, =87 F FFER, WHld T g W el
qatawl 1 qafgem T # g g, e

1. St yenfeaf oot R # @ gafawfw
qiEdHl H G FwA % e g ae
daw € €, A fagm @ wdh

2. |l Idum yeioat e @ S, @it
I AW WfeF ghenst w1 A I
T

3. wgiawfig giEddl 9 9« 99 & S 6
JeHaT % gfomeEsy fea 8 smom

4. yenfod #1 el w3 wE B
= g T 2 w1 wEm R g I g

1,233
2, 3 3R 4
1,3 3R 4
1, 23R 4

(a)

(b)

(c)

(d)
32. ¥ df=s% q' gl ¢ T fowm # sfdfward

forgia 15 Rreia @ @ =, wifs

(@) 7 GR-vard frgia 1 wge T8 F

(b) e, wafavfn sk s e A
o &

(c) T6% TeA % forn 1S waa 7 &
(d) et % s F1 47 givewal # &
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

Natural selection cannot anticipate future
environments on the earth. Therefore, the set of
existing organisms can never be fully prepared
for environmental catastrophes that await life.
An outcome of this is the extinction of those
species which cannot overcome environmental
adversity. This failure to survive, in modern
terms, can be attributed to the genomes which
are unable to withstand geological vagaries
or biological mishaps (infections, diseases and
so on). In biological evolution on the earth,
extinction of species has been a major feature,
The earth may presently have up to ten million
species, yet more than 90% of species that have
ever lived on the earth are now extinct. Once
again, the creationist doctrines fail to
satisfactorily address why a divine creator ‘will
firstly bother to create millions of species and
then allow them to perish. The Darwinian
explanation for extinct life is once again simple,
elegant and at once convincing—organisms go
extinct as a function of environmental or
biological assaults. for which their inheritance
deems them ill-equipped. Therefore, the
so-called Darwinian theory of evolution is not a
theory at all. Evelution happens—this is a fact.
The mechanism of evolution (Darwin proposed
natural selection) is amply supported by
scientific data. Indeed, to date no single
zoological, botanical, geological, paleontological,
genetic or physical evidence has refuted
either of the central two main Darwinian ideas.
If religion is not taken into consideration,

VGYH-D-CST/46A
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Darwinian laws are acceptable just like the laws
proposed by Copernicus, Galileo, Newton and
Einstein—sets of natural laws that explain
natural phenomena in the universe.

31. According to the passage, natural
selection cannot anticipate fature
environments on the earth as

1. species not .ﬁ.llly:-\pg_ep&rgd to face
the environmental changes that
await them will face extinction

2. all the existing species would get
extinct as their genomes will not
withstand biological mishaps

3. inability of the genome to withstand
environmental changes would
result in extinction

4. extinction of species is a common
feature

Select the correct answer using the code
given below.

(@ 1,2 and 3

(b) 2,3 and 4
(¢ 1, 3 and 4
(d 1,2 and 4

32. The passage suggests that Darwinian
theory of evolution is not a theory at all
because

(@) it does not satisfy the creationist

doctrine

(b) extinction is a function of
environment and biological
assaults

(c) there are no evidences to refute it

(d) existence of organisms is attributed
to a creator

[ P.T.O.
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33. 6 W=7 ¥ w= A, Fmfafaa gEuromd s
TR

Fad 9 yenfaal shfda @f i #mem
wit o yafarfy sefefs @ ar a@
H &man Bt

waiE § 3 uiEdHl % R geE W
90% ¥ wiftrw yenfeat foge & WA %
e

gifdq =1 fagia wft wwfos wemett 6
T FAl B

394 qEuRonS # § -1 /3 49 /%7
() Faa 1

(b) Faa 1 3R 2

(c) Fad 3

(d 1,23R3

ufeds—2

er s d9fe, =@ waa 3R Wga g P
TR F 91y IR gegerfig giEr] f gen st
aft @ = ?) 38 Hyar & HY aRerm 3 gu 6 emen
gfeedl R Sl I99M W A S8 I g1 @
TY-IRE, HIEl AR WE S IER WEH-snuiia
ER R o &, 9wl & 3ea § sme-anuria
HER_F Ieqreq h e Fe s wEn # wa A
HEIHA Bl T o R forgq wefl/shem
3R Wi ATEE F gd g IwEN F forw siftymiiie i
# AEwEFal BN B, IR FA F FTH *F U 57 f
SATEIH1 Bt B

VGYH-D-CST/46A

20 www.jkchrome.com

20

34. T=fafga wuFl § § F9-91 w 9 of=de &
T I gaoE ®9 ¥ wfafafEe s 27

(@ @ W A YRAA  IRERS
IA-3YING 3MER 3 & & @ *
Tore Tsft foran st =R

(b) A T TG H ARG F FHH IaEHA
AR At Fei-sm ama REfE =@
R o ¥ w3 6 sayawal £

(¢ = Wefefm fawm @ ¥
qiegpfas R wmfie SaerR § weee
T R

(d 3R I a6 § qRE ¥ @ wEwE
yofedt ® Tedm seeE @ @
A B

35. x 4w, x f&, x 92, x e 3R x dwve
e Fr) e &7

(@) 11580x
(b) 11581x
(c) 694860x

(d) 694861x

36. P, Q, R, S, T3R UT® WRar ¥ ©: wed ¥
Q#H/H ufd/ucht RBI TH A UR SR U
fE st PRTH TR RrRF g PRI
74 i@ # 9 dufy &) fr=fefaa & @ f9-m
T Fel 87

(@ THTE/TH QR
(b) T T/ QR
(c) PH A RE

(d) Qi wirh/dfeh T8
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33. With reference to the passage, the

following assumptions have been made :

1. Only species that have the

ability to overcome environmental

catastrophes will survive and
perpetuate.

2. More than 90% of the species on
the earth are in the danger of
getting extinct due to drastic
changes in the environment.

3. Darwin’s theory explains all the
natural phenomena.

Which of the above assumptions is/are
valid?

(a) 1 only
(b) 1 and 2 only
(c) 3 only

(d 1,2 and 3

Passage—2

With steady economic growth, higher literacy
and increasing skill levels, the number of
Indian middle-class families has gone up
exponentially. Direct results of the affluence
have been changes in dietary patterns and
energy consumption levels, People have moved
to a higher protein-based diet like milk
products, fish and meat, all of which need
significantly more water to produce than cereal-
based diets. Increasing use of electronic and
electric machines/gadgets and motor vehicles
needs more and more energy and generation of
energy needs water.

VGYH-D-CST/46A
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34. Which one of the following statements
best reflects the crux of the passage?

(a) People should be persuaded to
continue with the mainly Indian
traditional cereal-based diets.

(b)

India needs to focus on developing
agricultural  productivity . and
capacity for more energy generation
in the coming years. .

(c/) Modern technological developments
result in the change of cultural and
social behaviour of the people.

(d) Water management practices in
India need to change dramatically
in the coming years.

35. How many seconds in total are there in
x weeks, x days, x hours, x minutes and

X seconds?
(a) 11580x
(b) 11581x

(c) 694860x

(d) 694861x

36. P, Q, R, S, T and U are six members of
a family. R is the spouse of Q. U is the
mother of T and S is the daughter of U.
P’s daughter is T and R’s son is P. There
are two couples in the family. Which one
of the following is correct?

(@) Q is the grandfather of T

(b)
() R is the mother of P

(@)

Q is the grandmother of T

T is the granddaughter of Q

[ P.T.O.
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37. TR T F A well P, QR RF M A AR
fu e g 3R A FuA ® AR fiftw

T : W P, U Q& TRl w R?

FYgA-1: TR Q, W R¥ 18 km R #|
FYF-2 : TR P, TR R ¥ 43 km { B
It v 3wl ¥ aR F Fefalaa 3 Q
FH-H1 TF FE _7

(@) FE FU—-1 & WA H IW A F g
e #

(b) e FYA-2 E T F IW A *F fog
9a7e ®

c) FHF-1 3 FL-2, THI, TH F IN
3 % fog vgiw &

(d) F-1 IR FYF-2, THI, TH T IW
1 % forg vy 44 §

38. 3 FYA R 3% =@ =R Frerd 2 R o )
FY9 UMY G T 9L § S WA @,
@ oft s 3% g w2 ol el @
ufer @i o fegm fifsg 6 g o et §
¥ FE-91/3 Trend, g @ 9@ R
A F O FE Y qHETG ®Y A SR
B /A E
m—l:'ﬂ‘ﬁﬁ'ﬁ,mﬁ%l
FAA-2 : FIS FHI, @ Tel 8
-1 . ol gftial, e €
frerd-11 : 3o $REET, Fad B
Frepd—qin.; weft fopamet, HRfat §)
fepd=1v ;. @15 oft i, forara 7 R1
Frfafaa # @ FF-w T wE 27
(@) Fa@ Frepd-1
(b) Faa -1
(c) Trerd-111 3R Fepd—1v At
(@) o Trewst § / 4 oft sgfia 76 S
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39. i Y 3R 3% 912 fim frerd 9 g o #)
FY4 A G F19 9ed] | T wdd @,
ot e 3R g 5E R asft Pres] @
ufey 3R a8 fem Aifvg B g o fFemt 3
¥ BA-u1/3 frerd, = 3@ qed A W
FA T W FUE Y dHET €O A
B B/E0 B

FYA-1 : TS s, e B
FuA-2 : oft e, e &)
FYF-3 : Bft Ffifaer, awfe 2
-1 : T ami, S 81
=11 ¢ |fi Sehifaem, <faen 21
i1 : F8 Fhf, e )
frafafea # § ®F-w & wd 27
fa) Faa -1

(b) Faa eI

(c) Tred-1 o fasd—n1 <t
(d) Trerd—1 3R ferd—11 91

40. 3e faqaneff A, B, C, D, E, F, G 3R H T

FAEHR A9 % URG: A FR H IR g@ R
T - ¥ w-wE g m R §, By
yevE it A A E B DA
@ CHFafame &, 7@ CF i A 92 B
EMDEdNA AT, MBI HF
4= 3§ F 931 B frefafes § @ $9-w1 @
i w9 @ wd B7

(@ AR GF = BT R
(b) G%3F WM CHAR
(c) F% 3% 91 E <31 &
(d) I A A ¢ TE
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Consider the Question and two

Statements given below in respect of

three cities P, Q and R in a State :

Question : How far is city P from

city Q?

Statement-1 : City Q is 18 km from
city R.

Statement-2 : City P is 43 km from
city R.

Which one of the following is correct

in respect of the Question and the

Statements?

(a) Statement-1 alone is sufficient to

answer the Question

Statement-2 alone is sufficient to

answer the Question

(c) Both Statement-1 and Statement-2

are sufficient to answer the

Question

Both Statement-1 and Statement-2

are not sufficient to answer the

Question

(b)

(d)

Two Statements followed by four
Conclusions are given below. You have
to take the Statements to be true even
if they seem to be at variance from the
commonly known facts. Read all the
Conclusions and then decide which of
the given Conclusions logically follows/
follow from the Statements, disregarding
the commonly known facts :

Statement-1 : All pens are books.
Statement-2 : No chair is a pen.
Conclusion<l : All chairs are books.

Conclusion-II : Some chairs are pens.

Conclusion-1I1 : All books are chairs.

Conclusion-IV : No chair is a book.

Which one of the following is correct?

(a) Only Conclusion-I

(b)  Only Conclusion-II

(c) Both Conclusion-III and
Conclusion-IV

(d) None of the Conclusions follows

23
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39. Three Statements followed by three

Conclusions are given below. You have
to take the Statements to be true even
if they seem to be at variance from the
commonly known facts. Read all the
Conclusions and then decide which of
the given Conclusions logically follows/
follow from the Statements, disregarding
the commonly known facts :

Statement-1 : Some doctors are
teachers,
Statement-2 : All teachers are
engineers.
Statement-3 : All engineers are
scientists.
Conclusion-I .: Some scientists are
doctors.
Conclusion-II : All engineers are
doctors.
Conclusion-IIl : Some engineers are
doctors.

Which one of the following is correct?
(a) Only Conclusion-I

(b)

(c) Both Conclusion-I and
Conclusion-III

(d) Both Conclusion-I and
Conclusion-II

Only Conclusion-II

40. Eight students A, B,C, D, E, F, Gand H

sit around a circular table, equidistant
from each other, facing the centre of the
table, not necessarily in the same order.
B and D sit neither adjacent to C nor
opposite to C. A sits in between E and D,
and F sits in between B and H. Which
one of the following is definitely correct?

(a) B sits in between A and G
(b) C sits opposite to G

(c) E sits opposite to F

(d) None of the above

[ P.T.O.
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42. [T eEAfd F dern TE wan, wifn
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(b) 3TF UTE THH fow v R
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

For two or three generations past, ever-
increasing numbers of individuals have been
living as workers merely, not as human beings.
An excessive amount of labour is rule today
in every circle of society, with the result that
man'’s spiritual element cannot thrive. He finds
it very difficult to spend his little leisure in
serious activities. He does not want to think;
or he cannot even if he wants to. He seeks not
self-improvement, but entertainment which
would enable him to be mentally idle and
to forget his usual activities. Therefore, the
so-called culture of our age is dependant
more on cinema than on theatre, more on
newspapers, magazines and crime stories than
on serious literature.

41, The passage is based on the idea that
(a) man should not work hard

(b) the great evil “of our age is
overstrain

(¢) man cannot think well

(d) man cannot care for his spiritual
welfare

42, Man does not seek self-improvement
because he

(@) is not intellectually capable

{b) has no time to do so

www.jkchrome.com

Passage—2

The demographic dividend, which has begun
in India and is expected to last another few
decades, is a great window of opportunity. The
demographic dividend is basically a swelling in
the working age population, which conversely
means that the relative ratio of very young and
very old will, for a while, be on the decline.
From the experience of Ireland and China,
we know that this can be a source of energy
and an engine of economic  growth. The
demographic dividend tends to raise a nation’s
savings rate since in any nation, it is the
working age population that is the main saver.
And since the savings rate is an important
driver of growth; this should help elevate
our growth rate. However, the benefits of
demographic dividend depend on the quality of
the working age population. And this implies
bringing back the importance of education,
acquisition of skills and human capital.

43. Which of the following would invariably
happen in a country, when the
demographic dividend has begun to
operate?

1. The number of illiterate people will
decrease.

2. The ratio of very old and very young
will decrease for a while.

3. Population growth rate will quickly
stabilize.

Select the correct answer using the code
given below.

(a) 1 and 2 only

www.jkchrome.com

Ll N (b) 2 only
(c) is distracted by materialism
(d) loves amusement and is mentally €} - Lond Somt
idle (d 1, 2 and 3
VGYH-D-CST/46A 25 PO,
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44. W W=t w1 W= od g Frafafed & |

FH-91/8 AW Frpren s @ & /P
Haha &7

1. AR e felt dw & forg o &

wh s dafs ® TEn ¥ R
Hfvard gm &)
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(b) FaE 2

(¢) 1 3R 23N
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45. g P, Q, X, Y 3R 23 38 Aegs @lidi
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2. PR Q3 fiwa 21 Fregs @l

3. P 3 R Args @ld w@ 5 W
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4. X 3R v3 fream 28 Aegs @i

5. X 3 ot drgs @l @@ 5 s
Fregs pA @

7R y&AF degH H Fma €40 &, @ wf
e = T AR frat 87

(@) ¥2,600
(b) ¥2,400
() €2,360
(d) €2,320
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Tt om wied =fee 5 ® = 9 fich
FHem! & TEd 99 G BY

(@) 147
(b) 150
(c) 294

(d) 300
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44, With reference to the passage, which of

the following inferences can be drawn?

1. Demographic dividend is an
essential condition for a country
to rapidly increase its economic
growth rate.

2. Promotion of higher education is
an essential condition for a country
for its rapid economic growth.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

45. Five friends P, Q, X, Y and Z purchased

some notebooks. The relevant

information is given below :

1. Z purchased 8 notebooks more
than X did.

2. AP and. . O
21 notebooks.

together purchased

3. Q purchased 5 mnotebooks less
than P did.

4. X and. N
28 notebooks.

together purchased

5. P purchased. 5 notebooks more
than X did.

If each netebook is priced ¥40, then
what .is . the total cost of all the
notebooks?

(@) €2,600
(b) 2,400
(c) €2,360
d €2,320

VGYH-D-CST/46A
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46. A man started from home at 14:30 hours

and drove to village, arriving there when
the village clock indicated 15:15 hours.
After staying for 25 minutes, he drove
back by a different route of length
1:25 times the first route at a rate twice
as fast reaching home at 16:00 hours.
As compared to the clock at home, the
village clock is

(a) 10 minutes slow
(b) 5 minutes slow
(c) 10 minutes fast

.

(d) 5 minutes fast

47. A person X wants to distribute some

pens among six children A, B, C, D, E
and F. Suppose A gets twice the number
of pens received by B, three times that
of C, four times that of D, five times that
of E and six times that of F. What is
the minimum number of pens X should
buy so that the number of pens each
one gets is an even number?

(@ 147
(b) 150
(c) 294

(d) 300

[ P.T.O.
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T §

(c) FH-1 AR FY-2, BHI, TH F IFW
3 % forg vaim &

(d) FF-1 3N FYF-2, IMI, TH FH IN
31 % oo vaie =8 2

49, #= fRu mu yw el @ FuE W fEr Hifvw .
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49. Consider the
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48. Six persons A, B, C, D, E and F are

sitting equidistant from each other
around a circular table (facing the
centre of the table).

Consider the Question and two

Statements given below :

Question : Who is sitting on the
immediate left of A?

Statement-1 : B is sitting opposite to
C and D is sitting
opposite to E.

Statement-2 : F is sitting on the
immediate left of B.

Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(c) Both Statement-1 and Statement-2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

Question and two
Statements given below :

Question : "What is the age of
Manisha?

Statement—1 : Manisha is 24 years
younger than her
mother.

Statement-2 : 5 years later, the ages of
Manisha and her mother
will be in the ratio 3: 5.

VGYH-D-CST/46A
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Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(c) Both Statement-1 and Statement-2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

50. Six lectures A, B, C, D, E and F, each

of one hour duration, are scheduled
between 8:00 a.m. and 2:00 p.m.

Consider the Question
Statements given below :

and two

Which lecture is in the
third period?

Question :

Statement-1 : Lecture F is preceded by

A and followed by C.

Statement-2 : There is no lecture after
lecture B.

Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(c) Both Statement-1 and Statement—2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

[ P.T.O.
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(c)
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on

the passages only.

Passage—1

In an economic organization, allowing mankind
to benefit by the productivity of machines
should lead to a very good life of leisure, and
much leisure is apt to be tedious except
to those who have intelligent activities and
interests. If a leisured population is to be
happy, it must be an educated population,
and must be educated with a view to enjoyment
as well as to the direct usefulness of technical

knowledge.

51. Which of the following statements best
reflects the underlying tone of the
passage?

(a) Only an educated population can
best make use of the benefits of
economic progress.

(b)

All economic development should
be aimed at the creation of leisure.
An_ increase in the educated
population of a country leads to
an increase in the happiness of

its people.

(c)

Use of machines should be

in order to create

(d)
encouraged
a large leisured population.

VGYH-D-CST/46A
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Passage—2

If presents bring less thrill now that we are
grown up, perhaps it is because we have too
much already; or perhaps it is because we have
lost the fullness of the joy of giving; and with
it the fullness of the joy of receiving. Children’s
fears are poignant, their miseries are acute,
but they do not look toe forward nor too far
backward. Their joys are clear and complete,
because they have not yet learnt always to add
‘but’ to every proposition. Perhaps we are too
cautious, too anxious, too sceptical. Perhaps
some of our cares would shrink if we thought
less about them and entered with more single-
minded enjoyment into the happiness that

come our way.

52. With reference to the passage, which one
of the following statements is correct?
(a) It is not possible for adults to feel
thrilled by presents.

There can be more than one reason
why adults feel less thrilled by
presents.

(b)

(c) The author does not know why

adults feel less thrilled by presents.

(d)

Adults have less capacity to feel
the joy of loving or being loved.

[ P.T.O.
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53. The author of the passage is against 55. There is a numeric lock which has
a 3-digit PIN. The PIN contains digits

(@) worrying too much about the past 1 to 7. There is no repetition of digits.

and future The digits in the PIN from left to right

are in decreasing order. Any two digits
in the PIN differ by at least 2. How many
maximum attempts does one need to
find out the PIN with certainty?

(b) being in the habit of thinking about
presents

(¢c) not being thrilled by new things

(@ 6
(d) giving and receiving joy only
ially
(b) 8
54. Let A, B and C represent distinct non- (c) 10
zero digits. Suppose x is the sum of
all possible 3-digit numbers formed by
A, B and C without repetition. (d) 12
Consider the following statements :
1. The 4-digit least value of x is 1332. 56. There are eight equidistant points on
a circlee. How many right-angled
2. The 3-digit greatest value .of x triangles can be drawn using these
is 888. points as vertices and taking the

diameter as one side of the triangle?
Which of the above statements is/are

correct?
(a) 24
(a) 1 only
(b) 16
(b). 2 only
(c) Both 1 and 2 i
(d) Neither 1 nor 2 (d) 8
VGYH-D-CST/46A 33 [ P.T.0,
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(b) FaAA 2
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2 1261 A ¥ ¥ T N 1AM 60. V@ TH WA x F 70% TH ¥ WeAl y H
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B 11 B | §E G x F 60% T FF W&l
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(@ 3
165% & wrar 8| F=fafeaa § & #F-w1 &
He 87
(b) 2
(@ z<x<y
(b) x<y<z
(e) 1
() y<x<z
@d o (d z<y<x
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57. 24 men and 12 women can do a piece of
work in 30 days. In how many days can
12 men and 24 women do the same
piece of work?

(a) 30 days
(b) More than 30 days

(c) Less than 30 days or more than
30 days

(d)

Data is inadequate to draw any
conclusion

58. What is the remainder when

91x92x93x94 x95x96x 97 x 98 x 99

is divided by 1261?
(@) 3
(b) 2
c) 1

(d 0

VGYH-D-CST/46A
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59. Consider the following statements in
respect of a rectangular sheet of length
20 cm and breadth 8 cm :

1. It is possible to cut the sheet
exactly into 4 square sheets.

2. It is possible to cut the sheet into
10 triangular sheets of equal area.

Zn

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
f¢) Both 1 and 2

(d) Neither 1 nor 2

60. When 70% of a number x is added to

another number y, the sum becomes
165% of the value of y. When 60% of
the number x is added to another
number z, then the sum becomes 165%
of the value of z. Which one of the
following is correct?

(@)

zZ<x<y

(b) x<y<z

fc) y<x<z

(@)

zZ<y<x

[ P.T.O.
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(a) &ad 1
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

The majority of people who fail to accumulate
money sufficient for their needs, are generally,
easily influenced by the opinions of others.
They permit the newspapers and the gossiping
neighbours to do their thinking for them.
Opinions are the cheapest commodities on the
earth. Everyone has a flock of opinions ready
to be wished upon by anyone who will accept
them. If you are influenced by opinions when
you reach decisions, you will not succeed in
any undertaking.

61. Which one of the following is implied by
the passage?

(a) Most of the people do not
accumulate money for their needs.

(b) Most of the people never fail to
accumulate money for their needs.

(c) There are people who fail to
accumulate money for their needs.

(d) There is no need to accumulate
money.

62. What is the main idea of the passage?
(@) People should not be influenced by
the opinions of others.
(b) -People should accumulate as much
money as they can.

() People should neither give nor
accept the opinions.

(d) People will succeed in any
undertaking if they do not accept
any opinion at all.

VGYH-D-CST/46A
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Passage—2

“The social order is a sacred right which is the
basis of all other rights. Nevertheless, this right
does not come from nature, and must therefore
be founded on conventions.”

63. With reference to the above passage,
which of the following statements is/are
correct?

1. Conventions are the sources of
rights of man.

2. Rights of mancan be exercised only
when there is a social order.

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

64. Two candidates X and Y contested an
election. 80% of voters cast their vote
and there were no invalid votes. There
was no NOTA (None of the above) option.
X got 56% of the votes cast and won
by 1440 votes. What is the total number
of voters in the voters list?

(@) 15000
(b) 12000
() 9600

(d) " 5000

[ P.T.O.
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65. What is the smallest number greater
than 1000 that when divided by any one
of the numbers 6, 9, 12, 15, 18 leaves
a remainder of 3?

(@) 1063
(b) 1073
(c) 1083
(d) 1183

66. Let p be a two-digit number and g be
the number consisting of same digits
written in reverse order. If p xq=2430,
then what is the difference between
p and g?

(@ 45
(b) 27
c) 18

(d 9

67. Consider the following statements in
respect of two natural numbers p and g
such that p is a prime number and q is
a composite number :

1. pxqcan be an odd number,
2. q/p can be a prime number.

3. p+gqcan be a prime number.

Which of the above statements are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
{c) 1 and 3 only
(d 1,2 and 3

VGYH-D-CST/46A
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68. Consider the following statements :

1. Between 3:16 p.m. and 3:17 p.m.,
both hour hand and minute hand
coincide.

2. Between 4:58 p.m. and 4:59 p.m.,
both minute hand and second
hand coincide.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

69. There are two containers X and Y.

X' contains 100 ml of milk and
Y contains 100 ml of water. 20 ml of
milk from X is transferred to Y. After
mixing well, 20 ml of the mixture in Y is
transferred back to X. If m denotes the
proportion of milk in X and n denotes
the proportion of water in Y, then which
one of the following is correct?

(@} m=n
(b) m>n
fc) m<n

(d) Cannot be determined due to
insufficient data

70. A pie chart gives the expenditure on five

different items A, B, C, D and E in
a household. If B, C, D and E correspond
to 90°, 50°, 45° and 75° respectively,
then what is the percentage of
expenditure on item A?

112 125
(a) ? (b) T
155 250
(c) —9'— (d) T

[ P.T.O.
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on

the passages only.

Passage—1

To encourage research is one of the functions
of a university. Contemporary universities have
encouraged research, not only in those cases
where research is necessary, but on all sorts
of entirely unprofitable subjects as well
Scientific research is probably never completely
valueless. However silly and insignificant it may
seem, however mechanical and unintelligent
the labours of the researchers, there is always
a chance that the results may be of value to
the investigator of talent, who can use the facts
collected for him by uninspired but industrious
researchers as the basis of some fruitful
generalization. But where research is not
original, but the
rearrangement of existing materials, where its
object is not scientific but literary or historical,
then there is a risk of the whole business

consists in mere

becoming merely futile.

71. The author’s.assumption about scientific
research is that

(@)
(b)
(c)
(d)

it is never very valuable
it is sometimes very valuable
it is never without some value

it is always very valuable

VGYH-D-CST/46A
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72. According to the author

(a) not many research results can be of
value to an intelligent investigator

(b)

a research result is always valuable
to an intelligent investigator

(c) any research result can be of value

to an intelligent investigator

(d) a research result must always be
of some value to an intelligent

investigator

Passage—2

How best can the problems of floods and
droughts be addressed so that the losses are
minimal and the system becomes resilient?
In this context, one important point that needs
to/be noted is that India gets ‘too much’ water
(about 75% of annual’ precipitation) during
120 days (June to September) and ‘too little’ for
the remaining 245 days. This skewed water
availability has to be managed and regulated
for its consumption throughout the year.

73. Which one of the following best reflects
the practical,
solution?

(@)

rational and lasting

Constructing huge concrete storage
tanks the
country

and canals across

(b) Changing the cropping patterns

and farming practices

(c)

Interlinking of rivers across the
country

(d)

Buffer stocking of water through
dams and recharging aquifers

[ P.T.O.
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74. If 78. The sum of three consecutive integers is

15 i 13k X 3%x2%x1= 3™ xn cqua‘l to t’.helr product. How many such
possibilities are there?

where m and n are positive integers,

then what is the maximum value of m? (a) Only one
(@ 7
(b) 6 (b) Only two
() S
(@ 4 (c) Only three
75. What is the value of X in the sequence (d) No such possibility is there
2, 12, 36, 80, 150, X?
(a) 248
(b) 252 79. What is the number of numbers of the
(c) 258 form 0. XY, where X and Y are distinct
non-zero digits?
(d) 262
76. One non-zero digit, one vowel and one (@) 72
consonant from English alphabet (in
capital) are to be used in forming (b) 81
passwords, such that each password
has to start with a vowel and_ end (c) 90

with a consonant. How many such
passwords can be generated?

(d) 100
(a) 105
(b) 525
(c) 945 80. The average weight of A, B, Cis 40 kg,
(d) 1050 the average weight of B, D, E is 42 kg
and the weight of F is equal to that of B.
77. There are 9 cups placed on a table What is the average weight of A, B, C,
arranged in equal number of rows and D, E and F?
columns out of which 6 cups contain
coffee and 3 cups contain tea. In how (a) 405 kg
many ways can they be arranged so
that each row should contain at least
one cup of coffee? By
(g8 (c) 41 kg
(b) 27
(c) 54 (d) Cannot be determined as data is
(d) 81 inadequate
VGYH-D-CST/46A 43 [ P.T.O.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C. : VGYH-D-CST Test Booklet Series

Serial No.

0059701  TEST BOOKLET
GENERAL STUDIES

Paper—II
Time Allowed : Two Hours Maximum Marks : 200

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

3. You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

4. This Test Booklet contains 80 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that'there is more than one correct response, mark
the response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks,

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

9, Sheets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE.
(i) There are four alternatives for the answer to every question. For each question for which a

wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iti) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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